





Math

Pr= Watts
Er= 24 Volts
It= Amps
Rt= Ohms

P1= Watts
E1= Volts
I1= Amps
R1i= 4 0Ohms

P,= Watts

E4+= Volts
I»= Amps
Rs4= 2 Ohms

P, = Watts
E>= Volts
I.= Amps
R2= 16 Ohms

P3= Watts
Ez= Volts

[z= Amps
Rz = 6 Ohms

Ps= Watts
Es = Volts

Is= Amps
Rs= 4 Ohms

Pe= Watts
Ee= Volts
Ie= Amps
R¢= 18 Ohms




Math P1= Watts Ps+= Watts
E1= Volts E4= Volts
I+ = Amps [+= Amps
R1i= 4 Ohms R4= 2 Ohms

Pr= Watts > —
= 5= Wa
Er= 24 Volts P2= Watts -
It= Amps E2= Volts Es= Volts
Rr= Ohms Iz= Amps Is— Amps
R2= 16 Ohms Rs= 4 Ohms

Ps = Waltts Pe — Watts
Es= Volts Ee = Volts
Is= Amps Ie= Amps
Rs= 6 Ohms Re= 18 Ohms

R2 xR4,5,6 16 x 24 384
Ry + Rusc EET Sy 40 = 9.6 Ohms

R45,.6=2+4+18 = 24 Ohms R2456= R2,4,56=9.6 Ohms




Pr= Watts
Er= 24 Volts
It= Amps
Rr= Ohms

P1= Watts
E1= Volts
I1= Amps
Ri= 4 Ohms

R2,4,5,6=9.6 Ohms

P2456= Watts
E2456= Volts
Io456= Amps

P3; = Watts
E; = Volts
Iz= Amps
R3= 6 Ohms




Math

Pr= Watts
Er= 24 Volts
It= Amps
Rr= Ohms

P1= Watts
E1= Volts
I1= Amps
Ri= 4 Ohms

P2456= Watts
E2456= Volts
Io456= Amps

P3; = Watts
E; = Volts
Iz= Amps
R3= 6 Ohms




Pr= Watts
Er= 24 Volts
Itr= Amps

P1= Watts
E1= Volts
[1= Amps
Ri1i= 4 Ohms

Rr=Ri1 +R2456+ R3 = 4+ 9.6 + 6 =19.6 Ohms

P3; = Watts
Ez= Volts
[z:= Amps
R3= 6 Ohms

P2456= Watts
E2456= Volts
Io456= Amps
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Pr= Watts
Er= 24 Volts
Itr= Amps

P1= Watts
E1= Volts
I1= Amps
R1i= 4 0Ohms

P,= Watts

E4+= Volts
I»= Amps
Rs4= 2 Ohms

P, = Watts
E>= Volts
I.= Amps
R2= 16 Ohms

P3= Watts
Ez= Volts

[z= Amps
Rz = 6 Ohms

Ps= Watts
Es = Volts

Is= Amps
Rs= 4 Ohms

Pe= Watts
Ee= Volts
Ie= Amps
R¢= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps

P1= Watts
E1= Volts
I1= Amps
R1i= 4 0Ohms

P,= Watts

E4+= Volts
I»= Amps
Rs4= 2 Ohms

P, = Watts
E>= Volts
I.= Amps
R2= 16 Ohms

P3= Watts
Ez= Volts

[z= Amps
Rz = 6 Ohms

Ps= Watts
Es = Volts

Is= Amps
Rs= 4 Ohms

Pe= Watts
Ees= Volts
Ie= Amps
R¢= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps

P1= Watts
E1= Volts

R1i= 4 0Ohms

P,= Watts

E4+= Volts
I»= Amps
Rs4= 2 Ohms

P, = Watts
E>= Volts
I.= Amps
R2= 16 Ohms

P3= Watts
Ez= Volts

Rz = 6 Ohms

Ps= Watts
Es = Volts

Is= Amps
Rs= 4 Ohms

Pe= Watts
Ees= Volts
Ie= Amps
R¢= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
It= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
I1= 1.22 Amps
Ri= 4 Ohms

P,= Watts
E4+= Volts
I.= Amps
R4= 2 Ohms

Rule

P, = Watts
E> = Volts
[o= Amps
R2= 16 Ohms

Ps; = Watts
E; = Volts

Is= Amps
Rs= 4 Ohms

Pz = Watts

Ez= Volts
[:= 1.22 Amps
R3= 6 Ohms

Pe= Watts
Ec= Volts
Ie= Amps
Rs= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Itr= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
I1= 1.22 Amps
Ri= 4 Ohms

P,= Watts
E4+= Volts
I+= Amps
R4= 2 Ohms

Rule

P, = Watts
E,= Volts
[o= Amps
R2= 16 Ohms

P3= 8.93 Watts

Ez= 7.32 Volts
[z= 1.22 Amps
R3= 6 Ohms

Ps; = Watts
E; = Volts

Is= Amps
Rs= 4 Ohms

Pe= Watts
Ec= Volts
Ie= Amps
Rs= 18 Ohms




Pr= 29.28 Watts

Er= 24 Volts
Itr= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
[1= 1.22 Amps
Ri= 4 Ohms

P2456= Watts
E2456= Volts
Io456= Amps

R2,456= 9.6 Ohms

P3= 8.93 Watts

Ez= 7.32 Volts
I3= 1.22 Amps
R3= 6 Ohms




Pr= 29.28 Watts

Er= 24 Volts
Itr= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
[1= 1.22 Amps
Ri= 4 Ohms

E2,456) =Er-E1-E3

Ez,456) = 24-4.88-7.32 = 11.8 Volts

P2456= Watts
E2456= Volts
I2456= Amps

R2,456= 9.6 Ohms

P3;= 8.93 Watts

Ez= 7.32 Volts
I3= 1.22 Amps
R3= 6 Ohms




Pr= 29.28 Watts

Er= 24 Volts
Itr= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
[1= 1.22 Amps
Ri= 4 Ohms

Ez@4s56) =ET-E1-Es

Ez,456) = 24 - 4.88 - 7.32 = 11.8 Volts

P2456= Watts
Ex4z6= 11.8
I2456= Amps

R2,456= 9.6 Ohms

P3;= 8.93 Watts

Ez= 7.32 Volts
I3= 1.22 Amps
R3= 6 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts
E1= 4.88 Volts
[1= 1.22 Amps
Ri= 4 Ohms

P,= Watts
Es= Volts
I+= Amps
Rs4= 2 Ohms

Rule

P, = Watts
E>= 11.8 Volts
Io= Amps
R2= 16 Ohms

P;= 8.93 Watts

Ez= 7.32 Volts
[z3= 1.22 Amps
R3= 6 Ohms

Ps; = Watts
E; = Volts

Is= Amps
Rs= 4 Ohms

Pe= Watts
Ec= Volts
Ie= Amps
Rs= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P,= Watts
E4+= Volts
I+= Amps
R4= 2 Ohms

Rule

P1= 5.95 Watts
E1= 4.88 Volts
[1= 1.22 Amps
Ri= 4 Ohms
P, = 8.73 Watts
E>= 11.8 Volts
I>= .74 Amps
R2= 16 Ohms
Ps; = 8.93 Watts
Ez= 7.32 Volts
[z= 1.22 Amps
R3= 6 Ohms

Ps; = Watts
Es = Volts

Is= Amps
Rs= 4 Ohms

P¢= Watts
Ee= Volts
Ie= Amps

Rg= 18 Ohms




Math

Pr= 29.28 Watts
Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P,= Watts
E4+= Volts
I.= Amps
R4= 2 Ohms

Rule

[ase = It-12

Iias6) =1.22-.74 =.48 Amps

P1= 5.95 Watts
E1= 4.88 Volts
I1= 1.22 Amps
Ri= 4 Ohms
— P, = 8.73 Watts
—— E.= 11.8 Volts
“mm | L= .74 Amps
R2= 16 Ohms
P;= 8.93 Watts
Ez= 7.32 Volts
[z= 1.22 Amps
R3= 6 Ohms

Ps= Watts
Es = Volts

Is= Amps
Rs= 4 Ohms

P¢= Watts
Ee= Volts
Ie= Amps

Rg= 18 Ohms




Math

Pr= 29.28 Watts
Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P,= Watts
E4+= Volts
I.= .48 Amps
R4= 2 Ohms

Rule

[ase) = It-12

Ia56) =1.22-.74 =.48 Amps

P1= 5.95 Watts
E1= 4.88 Volts
I1= 1.22 Amps
Ri= 4 Ohms
— P, = 8.73 Watts
—— E.= 11.8 Volts
“mm | L= .74 Amps
R2= 16 Ohms
P;= 8.93 Watts
Ez= 7.32 Volts
[z= 1.22 Amps
R3= 6 Ohms

Ps= Watts
Es = Volts

Is= .48 Amps
Rs= 4 Ohms

P¢= Watts
Ee= Volts
Ie= .48 Amps

Rg= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P,= Watts
E4+= Volts
[.= .48 Amps
R4= 2 Ohms

Rule

P1= 5.95 Watts
E1= 4.88 Volts
[1= 1.22 Amps
Ri1i= 4 Ohms
— P, = 8.73 Watts
—— E>.= 11.8 Volts
“mm | L= .74 Amps
R2= 16 Ohms
P;= 8.93 Watts
Ez= 7.32 Volts
[z= 1.22 Amps
R3= 6 Ohms

Ps; = Watts
Es = Volts

Is= .48 Amps
Rs= 4 Ohms

Pe= Watts
Ee= Volts
Ie= .48 Amps

Rg= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
[1= 1.22 Amps
R1i= 4 0Ohms

Ps= .46 Watts
Es= .96 Volts
I.= .48 Amps
Rs4= 2 Ohms

Rule

P, = 8.73 Watts
E>= 11.8 Volts
I>= .74 Amps
R2= 16 Ohms

P3;= 8.93 Watts

Ez= 7.32 Volts
I3= 1.22 Amps
R3= 6 Ohms

Ps= Watts
Es = Volts

Is= .48 Amps
Rs= 4 0Ohms

Pe= Watts
Ee= Volts
Ie= .48 Amps
R¢= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts

E1= 4.88 Volts
[1= 1.22 Amps
R1i= 4 0Ohms

Ps= .46 Watts
Es+= .96 Volts
[.= .48 Amps
Rs4= 2 Ohms

Rule

P, = 8.73 Watts
E>= 11.8 Volts
I>= .74 Amps
R2= 16 Ohms

P3= 8.93 Watts

Ez= 7.32 Volts
I3= 1.22 Amps
R3= 6 Ohms

Ps= .92 Watts
Es= 1.92 Volts

Is= .48 Amps
Rs= 4 0Ohms

Pe= Watts
Ee= Volts
Ie= .48 Amps
R¢= 18 Ohms




Math

Pr= 29.28 Watts

Er= 24 Volts
Ir= 1.22 Amps
Rr= 19.6 Ohms

P1= 5.95 Watts
E1= 4.88 Volts
I1= 1.22 Amps
Ri1= 4 Ohms

Ps= .46 Watts
Es= .96 Volts
[.= .48 Amps
R4= 2 Ohms

Rule

P, = 8.73 Watts
E>= 11.8 Volts
I>= .74 Amps
R2= 16 Ohms

Pz = 8.93 Watts

Ez= 7.32 Volts
I3= 1.22 Amps
Rz = 6 Ohms

Ps= .92 Watts
Es= 1.92 Volts

Is= .48 Amps
Rs= 4 Ohms

Ps= 4.15 Watts
Ee¢= 8.64 Volts
Ie= .48 Amps
R¢= 18 Ohms






